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()ψ ( 2 ,0 ) - ψ ( xty, 0 ) = 0
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Therefore
,
P3is equivaleutto

p3)( ayΨ (x, y ) t 2yψ (4, o ) - ayψ (xxy , 02 - R(x2 y ) = 0



@ : Alekseev-Torossiaw 'smap U:grtr→kz , ψ→(ψ-xy,x ) ,ψ(
xは
.y) }

QuestionLet ψ EFLCx.y )be asolutionto ]p2( p3L .
Does

l
:

U( .
v) = (Ψfx-y,x) , ψ (-x-y. y ) ] ]

satisfy kVequatians ?

(KVI ) x u] t y[ v] = 0

KC丘 ] ( xaxµt yayul = 1 fo)+ fly)- flacy ) }
Fon the momeut

,
assume further that ψ satisfythe2-cyde relation

Ψ(x, y ] t ψ (Yix) = 0

me {
ax4√. は ) t ayψ(( y,x) = 0

ー o1
ayψ ( y) t ∂ x ψ(Yix) = 0



Let' sinvestigatekU2 ) . May assume that ψ is homogeneous of deg 22 .

⑥ Since U = ψ (-x-y , x ) & V= ψfxy . y ) ,

{
∂xµ = - 2xΨ (-x- y ,x) t 2yψ (-xy .

x )
… (1 )

∂yv = - ∂xΨ(-x-y ,y ) +∂yψ (-x-Y , は )

0 Using ψ (a. y ) =2x4)x tayψ( )は
,

ψ (-x-y , x ) = 2xΨ( (-x-y,x ) )-xy ) t ayΨ( -xy,x1 ) x
=
- ∂xΨ( (-x-は , ax) ] は ← 2xµ)x(り(

04-は 、 は ) = (y.))[xy)←a4 t -ay.s) )y!∴∴Ψ
- 2xΨ( (-x は,は ) ) x tayV )は



Heuce

I a)xt a)は( ( Ψ kx-ye)+ 24[xy( c) ) は 1t ψ (-x-y , は ) ← 2xψ( (-xy ,y) ) x

deg422≥0
( a-x-y, x) )y + ∂xψ( (-ay ,y ) )x 1

FL22L 1 = 0

京
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;

-x-y )} は tayΨ( (y. -x_y ))x り

p3(2 yψ( x,y ) t ayψ( は,o ) - ∂ yψ( xty, o ) - R (x.2 y ) = 0

- ∂yψ (x,-x-y ) = ∂yψ (-xy, 0 ) - 2yψ(-y, o ) - 2R(x,-x- y )1 nol ー∂yψ (Y
,
-x-y) = ∂yψ (-xy, 0 ) - 2 yψ[ (-x, 0 ) -2R (Y,-x- y)

〉-3](



Using 31 .

I axulxt ayv)y) = ay4-xyo) ) は-ay ψ((y .o)- 2 R(x-x-y )は1 + ayψ( (xy.0))x - ayψ (-x( 0 ))x - 2R (y,-x- y)x 1
= xty)( ayΨfx-y , 0 ) - x ayψ[x, o ) -はayΨ-y , o )1 - 2 R(x-x-y)( Y +R(Y 」

-x-y )x ) 1
Therefore

,
kV2) for (uv) is educed to

/ Rb(-x- y ) y ←R(Y )-x - y ) x / = 1fbytfly ) -fey)


